
Worksheet on Chapter 7 – Further Trigonometry 

 

 

1. Given that 
3
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cos ecA ,  900 A  and that 
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sin B ,  18090 B , find the exact value 

of: 

(i) B2sin  

 

(ii)  BAsin  

 

2. Find the values of x in the interval  2700 x  which satisfy the equation 
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3. Find the value of k such that for all real values of x, kxx 
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4. Solve each equation for x in the interval  3600 x .  

 

(a) 2sin32cos  xx  

 

(b)     0302sin602cos3    

 

 

5. Prove each identity. 

 

(a)   xxx 2sin2cos1tan   

 

(b) 
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6. (a) Express xx sincos  in the form  xRcos , where 0R  and 
2

0


  . 

. 

(b) Find the maximum value of xx sincos   and the smallest positive value of x  for which this 

     occurs. 

 

(c) Using the identity 

2
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2
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YXYX
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find in terms of   the values of x in the interval  ,0  for which  

 

xxx sin
4
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. 

 

 

7. (a) Prove that for all real values of x,     30cossin30cos xxx . 

 

(b) Hence, find the exact value of  15cos75cos , giving your answer in the form 2k . 
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